
          Solution of the day/ September - 17, 2019 

 6th Class 

 Mathematics: Ans : (C) 

13 13 7 2 x
4 6 2 3

     
 

 

39 26 42 2 x
12 3

     
 

23 2 x
12 3

  
23 3 23x x
12 2 8

      

 Physics: Ans: (A) 

 Chemistry:  Ans: (B) 

 Biology: Ans: (C)  

7th Class 

 Mathematics : Ans : (A)
 
 

2A = 3B = 4C   

2A 3B 4C A B C k
12 12 12 6 4 3

        

A 6k,B 4k,C 3k     

A : B : C 6k : 4k : 3k 6 : 4 : 3    

 Physics: Ans: (D) 

 Chemistry: Ans: (B) 

 Biology: Ans: (A) 

8th class 

 Mathematics: Ans: (C) 
a b c 0 a b c,b c a,c a b              

     2 2 2 2 2 2a b b c c a c a b
ab bc ca ab bc ca
  

    
3 3 3a b c 3abc 3

abc abc
 

    

 Physics: Ans : (B) 

 Chemistry: Ans: (C) 

 Biology:  Ans: (A) 

 

 



 

9th Class 

 Mathematics : Ans : (B) 
2 2 2x y z xy yz zx     , 2 2 22x 2y 2z 2xy 2yz 2zx       

2 2 2 2 2 2x y 2xy y z 2yz z x 2zx 0           

     2 2 2x y y z z x 0        

 x y 0 x y     

y z 0  y z   

z x 0 z x     

x y z    

 It is an equilateral triangle. 

 Physics: Ans : (C) 

 Chemistry: Ans: (A) 

 Biology: Ans: (D)
 
 

10th class 

 Mathematics: Ans : (A) 

 
 
tan cot 2
tan cot 1

  


  
 

  22tan 3 tan 3
2cot 1


    

  
tan 3 60º      

 Physics: Ans: (C)  

 Chemistry: Ans: (B)  

 Biology: Ans: (C)  

 Reasoning : Ans: (B)  


